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Find the area of a parallelogram
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Find the volume of rectangular prisms
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Find the volume of rectangular prisms
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Find the surface areas of rectangular prisms
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Find the surface areas of rectangular prisms
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Find and interpret the median and mode ofa set of data
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Find and interpret the median and mode ofa set of data
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Construct and analyze histograms
_/,,Il N [ENTRENPR PRV U YL [N (AT bud) Jle (gl dS..:Jb Gl 4 ! 1 (e o sleil) dadls
: || 10
i-ﬁ) B a0 S ) 24 G V) Clllpall (8 S Ulall e () Sall 0] am 1
= 41— 482 60 (e il iy 3 o) aaoal g ol
] L—
0 R €
e . = e B 433,65-69 Solalys oS 7 e Joadi 5,50 ol .2
(min) £ Lg% (o) . 2
Stiladyadl Sy o sae 81 2 3,20 ) 4B)
448, 60 - 64

Sands 70 so JBl 3,208 193,530 il cilsylad) LS1, sae oS 4
749 =165,

891

(1-6)
] e pane oy 63155 00 prsaaly 2

ke ko b ol ) ) bl s D
@lede Sl

\glaloniy duy)ySill Clampall el
Construct and analyze histograms

e e § Qiadl ) ) @b ass

@byl sae

slas |

0-4
5-9

Ll

1]

1]

W

il

9




e . .

ARATES SCHOGS Lgluloulg dayly S Solompkall L85

::::::::::: g (1-6)
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Display and interpret data in box plots
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Display and interpret data in box plots
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Find the area of a parallelogram
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Find the area of a parallelogram
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Find the surface areas of pyramids

py/ | 4. A 383
.2 ;J PR ~ 2"\ !\\\/' "
f' 15.9 1 ‘ \ ,\:‘2(7\ 1
f Jcm 1 =
," 52m
I
; samru.. guay
[z i ~8.2cm SA, 1 Atdsew Jaa)
82“2&: __X6X52+_X(6+6+6)X83—
(el ) Baotil dabia dayal) ) Sastil)
S.A=82x82+ s; 82)=8;p84:mg;n;m9 _15'6"'747_
' R AR R RS TR 90.3 m?
=67.24+ 260.76 = 328 cm?
;:“:é%ﬁ 1 ey e (5-76) 737
ale gill daclall fodaz . w dl 5525890 tlals (iP5

vV = 2830.5 m3

18.5m

s T i, o sy 5 SRS

.)L'LQ' 9 4.“.L&3J19
(3 Jgean

|4

w.h
2830.5




dalateall yptidall o S|
2 % (3 ) edie US oY sedaed) dadl Ao gl
4 cm : 5% mm
2.5cm w
€ 7 mm
V= 60 cm3 i V=109 3 mm?3
|74 vV
l — w — —
w.h l.h
I 60 60 109.2 109.2
— — W =—— =
2.5 X 4 10 % 5.2 36.4
Il =6 cm w =3 mm

i kel &3Syl A s S| P e

Choose an appropriate measure of central tendency
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Choose an appropriate measure of central tendency
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| Choose an appropriate measure of central tendency |
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Find the volume of rectangular prisms
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Find the volume of rectangular prisms
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Describe a data distribution by its center, spread, and overall shape
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Describe a data distribution by its center, spread, and overall shape
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find the Area of Composite Figures
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5.3cm 1 5.3cm
Aq :?th (b1+b2) i jadia Aud

8cm (
4cm 1 S

A4 7><4><(8+5.3)

26.6 cm?

8cm

Aq

JSil) daluca A=A1+A2 A2=l><w ----------
A=266+32 A2=8><4 8 cm
A =586 cm? A; = 32 cm?
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EAEARREIRNNE find the Area of Composite Figures
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2
A; =17.5 cm?
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A=17.5+70 A, =10%x7 ==
A=87.5 cm? Ay =70 cm?
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find the Area of Composite Figures
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3 i Ay =12 x 11 =132 m?
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A3: 2Xx2 =4 m
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A =260 m?
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find the Area of Composite Figures
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A= Fxdb= 12.25m? - &=y

A, =7x4.5=31.5m? A=A+ 4,

8m

A=12.25+31.5 = 43.75 m? @%
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Find the surface areas of trianngular prisms
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1
A=51x5 A=20x5 A=37 x5 A=5 x51 x12=306 m
=255m2 =100m2 = 185 m?

| Lsdidl dalues. A |= 306 +306 + 255+ 100+ 185 = 1152 m?2
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Find the surface areas of trianngular prisms

A=1x1.2 A=1x1.2 A=1.2x1.2
=1.2cm? =1.2 cm? =1.44 cm?

[ osdidldaluss. A |=0.48+0.48+ 1.2+ 1.2+ 1.44 =4.8 cm?
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EANARLIAHMENT Find the surface areas of trianngular prisms
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A==.b.h
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1 2
A=§ X2.4xXx1=12 m
A=2x2.4 A=2%Xx1.5 A=2x1.7
—4.8m2 =3 m2 = 3. 4cm?

[ sssddidalws 4 |=1.2+ 1.2+4.8+ 3+ 3.4 =13.6 m?
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B Find the surface areas of trianngular prisms
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A g S e 10cm | A
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A=1%12x10=60 cm?
A=12x 11 A=11x10 A=11x 15.6 2

= 132 cm? =110 cm?2 = 171.6 cm?

[(siidiiales. A | =60+ 60+ 132 +110+ 171.6 = 533.6 cm?
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B Find the surface areas of trianngular prisms
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17m
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4 A= .b.n
Tm Tm Z

A=§x2x17
A=3 x 2 A=3x2  A=3x2

A=1.7 m?
= 6 m? =6 m2 = 6 m?

[osdididalues. 4 |=1.7+1.7+ 6+ 6+ 6 =21.4 m>
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Find the surface areas of trianngular prisms
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A=% x 7.5 %10

A=5x7.5 A=5x10 A=3%K 12.5 A=37.5 cm?
=37.5 cm? = 50 Cm? = 62.5 cm?

[Jsdididalws. 4 )= 37.5 4+ 37.5+37.5+ 50 + 62.5 = 225 cm?
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A=%x5x4
A=18 x 5 A=18 x 4.7 A=18 x 4.7 A=10 cm?2
— 90 cm2 =84.6 CM?* =84.6 cm>

[osdididatbuss. A | =10+ 10+ 90+ 84.6 + 84.6 = 279.2 cm>
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